
7

8

6

23

2

1

44

41
37

36
40

40

38

39

30

35

31

34

31

32

35

31

48

20
16

13

13
18

19
13

4

49

33

R

L 50

7

9

8

6

3

45

23

2

1

14
5

12

44

41
37

36
40

40

38

39

30

35

31

46

34

31

32

35

31

47

17

48

20
16

13

13
18

19
13

15

11

42

43

4

49

33

R

L 50

06/09

3

4

1
2

5

53

52

59

2

1

24
21

22

54

57

56

29

27
26

24

28

25

51

3

4

50

2I1I

43

46

2I

5

1I

2

1

Wijzigingen voorbehouden

Onderdelentekening 

EZR 21 S

VE
EN

EM
AN



jun-09

Positie Artikel Artikelomschrijving Positie Artikel Artikelomschrijving

1 10.699.06 Kap motorhuis  20/2.4 S 1 St 30 99.999.99 Niet meer leverbaar 1 st

2 08.002.08 Plaatschroef HC4,8X50 DIN7981 4 st 31 10.534 Naaldlager HK 1012 B 5 St

3 10.699.03 Anker  20/2.4 1 St 32 99.999.99 Niet meer leverbaar 1 st

4 10.512 Lager 608 - 2RSH 1 St 33 99.999.99 Niet meer leverbaar 1 st

5 10.530 Borgring 28/1,2 DIN 472 1 St 34 99.999.99 Niet meer leverbaar 1 st

6 10.720.06 Koolborstel houderset 1 Set 35 99.999.99 Niet meer leverbaar 2 st

7 10.699.02 Koolborstelset  6,3x10x18 1 Set 36 10.205.18 Borgring 42/1,75 2 St

8 08.003.10 Tandveerring 4mm 4 St 37 10.533 Lager 6004 - 2RSH 2 St

9 08.002.11 Schroef M4x10 Verz kop 4 St 38 99.999.99 Niet meer leverbaar 1 st

11 10.529 Borgring 11/1 1 St 39 99.999.99 Niet meer leverbaar 1 st

12 10.720.11 O-ring 22x2,5 1 St 40 10.625 Spie 5x5x12mm DIN 6885 2 St

13 10.527 Naaldlager   HK 0810 3 St 41 10.561 Borgring 20x1,2 DIN 471 1 St

14 10.525 Lager 6001 - 2RSH 1 St 42 10.699.11 Luchtgeleidering 1 St

15 10.699.07 Tandwiellagerschild 1 St 43 10.197.35 Schroef C 3,9x60 2 St

16 10.740.28 Tandwielhuisafdichting EBS 125 1 St 44 10.699.04 Veldwikkeling EHR 20/2.4 - 2.5 1 St

17 99.999.99 Niet meer leverbaar 1 st 45 10.699.01 Motorhuis EHR/EHB 20/2.4 S 1 St

18 99.999.99 Niet meer leverbaar 1 st 46 10.381.40 Centeerstift  4x12 1 St

19 10.699.09 Tussentandwiel 34 Z 1 St 47 10.720.17 Plaatschroef HC4,2x32 DIN 7981 4 St

20 99.999.99 Niet meer leverbaar 1 st 48 08.000.93 Metaalschroef m5x35 geg.ck 8 St

21 10.568 Plaatschroef HC4,8x45 DIN 7981 1 St 49 99.999.99 Niet meer leverbaar 1 st

22 10.563 Plaatschroef 4,8x22 cyl. 1 St 50 08.003.25 Veerring M5 12 St

23 10.515 Ontstoringscondensator 1 St 51 10.572.06 Beugelgreep metaal EHR 23/2.2S 1 St

24 10.381.30 Handgreep twee delen 1 St 52 10.572.19 Doorvoerring HV 1305 2 St

25 10.519 Kabeltule 23/2 1 St 53 10.572.07 Beschermrub.greep EHR 23/2.2 S 4 St

26 10.520 Trekontlastingsklem 1 St 54 10.572.20 Schakeldraad 2-aderig 1 St

27 49.060.03 Zelft schroef 4,2 x 13 din7981 2 St 56 08.003.16 Veerring m6 2 St

28 10.390 Aansluitsn QWPK groen 2x1mm 3m 1 St 57 08.002.25 Schroef (kruis) m6 x 16 2 St

29 10.572.03 Schakelaar 23.2.2S-20/2.4S-MXT 1 St 59 10.805.46 Schroef (kruis) M5x20 DIN 7985 4 St

Aantal Aantal

10.087.10 - EZR 21 S

Wijzigingen voorbehouden


	10.087.10 - EZR_21_S_Version01
	10.087.10 - EZR 21 S



